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1 [ The word biology has been derived from two words: 1
(A) Greek (B) British Y (+) i (<)
(C) Hindi (D) Persian o (2) S (¢)

3 [ Zoology is the study of: e bl G | 2
(A) Animals (B) Plants KUy () bUL ()
(C) Microorganisms (D) Viruses 6 713 (2) § i T E (¢)

5 | The microscopic study of tissues is called: e bl M2 5L FUH |3
(A) Histology (B) Morphology S99 ) Gyt (=)
(C) Microbiology (D) Cytology Sd (2) S (&)

6 | The study of cell’s structure and function is called: e bl S uines$ | 4
(A) Genetics (B) Cell biology S (+) S (=)
(C) Physiology (D) Anatomy dft:._"f 2 (2) S (¢)

7 | The study of internal structure of living things is called: O e b SeKesda st SUsisenss | 5
(A) Genetics (B) Cell biology G (<) S (=3)
(C) Physiology (D) Anatomy -\ ¢ St (2) S (&)

The study of genes and their roles in inheritanceis "~

8 | called: v N\ Y :‘at'lk( S L S =B ol 52 6
(A) Biotechnology (B) ) _Ge‘ﬁéﬁcs S (<) S ¥ (<)
(C) Geology (D) |- nfofhétion technology GIE 7L (s) Sz (&)
11 | The study of the immune system of animals s called: bl »’W(r@:"’; 4 LUstbe |7
(A) Parasitology (B) Immunology EELEt (<) SI¥ i 3 )
(C) Sociology (D) | Environmental biology SIS 9 (+) Sos (©)
12 | The study of insects is called: bl Sbel” | g
(A) Biotechnology (B) Immunology G994 () Gk £ ()
(C) Parasitology (D) Entomology Sy 5 (+) SA¥ (&)
13 | Remainings of extinct organisms is called: W =Plumisbst | 9
(A) Corals (B) Fossils g (+) Jif ()
(C) Coral reefs (D) Endangered 3ol (2) Aol (&)

Study of drugs and their effects on human body is .
16 | called: ::‘_lrﬂrf JWB/:.-I}'ILUI{,‘/)‘ AUl | 10
(A) Socio biology (B) Parasitology SI7 (<) ALy =)
(C) Entomology (D) Pharmacology S (+) Gdo 5 (&)
17 | Famous book of Jabir Bin Hayan is: e eloeide | 11
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(A) Al-kheil (B) Al-Wahoosh J ) () K (=)
(C) Al-Abil (D) Al-Nabatat =L (2) JEU (©)
20 | Breeding of cow belongs to: e P8¢ | 12
(A) Farming (B) | Animal husbandry =S (=) b (<)
(C) Morphology (D) Genetics e (2) <GS (&)
22 | Gardening relates to the profession: te el Fedv | 13
(A) Horticulture (B) Forestry < («) o (=3)
(C) Agriculture (D) Farming e s (2) =AU (©)
23 | Transplantation of kidneys is example of: e JedU SIS | 14
(A) Medicine (B) Morphology G () - (<)
(C) Physiology (D) Surgery $2/ (2) Goly? (&)
24 | Jabir Bin Hayan was born in: il | 15
(A) Poland (B) China BB (<) iy )
(C) Iran (D) Iraq I (2) S (©)
Which book is known as canon of medicine in PRV

27 | medicine? O S bbb e (L bbb U | 16
(A) Al-Qanunfi-al-Tib | (B) Al-Haywan | /‘::) )12 (<) YRIE: ()
(€ Al-Abil (D) Akl T () Ju (©)
28 | Name of the famous book of Bu Ali Sina is: _ e (U™ Ser s | 17
(A) Al-Nabatat (B) AI-Qanhi¥i;lé|:;|'ib NI (<) =t (<)
(C) Al-Abil D) | ¢ \ f‘--:‘:“‘AI-hKhaiI K (2) Sl (¢)
29 | Abdul-Malik Asmai was borm in:~ 201U | 18
(A) 721 AD (B) 740 AD 740 AD (=) 721 AD (<)
(C) 780 A.D (D) 980 A.D 980 A.D (2) 780 A.D (¢)
30 | The book Al-Qanun-fi-al-Tib is written by: s el | 19
(A) Jabir Bin Hayan (B) Bu Ali Sina b (<) e il (<)
(C) Abdul Malik (D) Ibn-e-Nafees S (2 S @)
31 [ The famous book Al-Nabatat was written by: seli et 0 | 20
(A) Bu Ali Sina (B) Jabir Bin Hayan i () ong )
(C) Abdul Malik (D) Ibn-e-Nafees UL (5 BT (@)
33 | The writer of famous book “Al-Abil” is: i/ Fn A | 21
(A) Jabir Bin Hayan (B) Abdul Malik Asmai G ) O (3)
(C) Bu Al Sina (D) Ibn-e-Nafees JEe (2) b (&)
" Igﬁezt:udy of biomolecules and biochemical reactions is -~ N ﬁfl,mﬂ ;;Ql.,fg .’
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(A) Biochemistry (B) Biotechnology SIE L (<) S A4 ()
(C) Biology (D) Anatomy $ oL () | S (©)
37 | It deals with the classification of organisms: %—Lﬁgf $Sumie 0 | 23
(A) Taxonomy (B) Entomology Sy 5 () gk )
(C) Anatomy (D) Botany it (2) g (&)
Which of these major bio elements is in the highest % in )
40 | protoplasm? Cenliarar EUR ik Kot et | 24
(A) Carbon (B) Hydrogen S (<) e (=3)
(C) Nitrogen (D) Oxygen ST (2) OV’ (©)
L ¢ L/t—/ A u'/j j < V“LD ; > }j/ PR -
Which of the following group includes organisms all of uf() RS e Lu’dﬁeiﬂ
41 | which are absorptive in their nutrition? ‘Ut | 25
(A) Protests (B) Fungi ¢ (+) STy ()
(C) Bacteria (D) Animals e (2) L5 (@)
Which of these tissues also make the glandular tissue
43 | in animals? o Sebtf BAEIUU | 26
(A) Nervous tissue (B) Epithelial tissue # ML{' (<) Y, (=)
(C) Connective tissue (D) Muscular tissue K WA (2) 2 (©)
The level of organization that is less definite in plants [ <0< : "
44 |is: 9" se Ol AT tusy | a7
(A) Organism level (B) |  Organ systemlevél>" Jid~ () e ()
(C) Organ level (D) Tissu__a"*llej\"}él‘!""" J (») JLS T (@)
Wr_len we stt_ldy the feeding relations_hjp;.‘amoﬁg c!iffe.rent Kol Sl ;}u;._al?!J uw"'lg:ﬁruﬁuﬁ? --§'r7/7
animal species of a forest, at what level of organization e
46 | we are studying? Wadosb Iy e | 28
(A) Organism level (B) Population level Jde* 2L (+) Jdo ()
(C) Community level (D) Biosphere level Jrd 1\ (2) JdE L (&)
Which one of these elements has the highest .
47 | percentage in living organisms? S QbdisrolierdtuspssS iy e Uil | 29
(A) Carbon (B) Hydrogen . (<) oK (<)
(C) Oxygen (D) Nitrogen U2y (2) ST (&)
48 | The number of bio elements is: sl 4 “E20 | 30
(A) 10 (B) 16 16 (<) 10 (=)
(C) 14 (D) 35 35 (2) 14 (¢)
The element that is 3% of the total mass of living .
50 | organisms is: e bl o4 36U WL slgossneichios | 34
(A) Hydrogen (B) Carbon K () Sk )
(C) Oxygen (D) Nitrogen Uy’ (2) SFT (&)
Which bio element makes most of the composition of
51 | organism’s body? Setl:onl 6~ LispeisiZ US| 32
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(A) Hydrogen (B) Carbon o1 () oy =)
(C) Oxygen (D) Nitrogen Oy (2) =1 (©)
53 | An example of macro molecule is: q—dﬁ'd/dz? LA | 33
(A) Water (B) Glucose o F (<) d (=3)
(C) Protein (D) Sodium chloride iUkl (2) Fay (&)
54 | What is the function of mitochondria? se VP R | 34
(A) Protein synthesis | (B) Transport (S () (e ()
(C) Respiration (D) Excretion FA (2) O (©)
96 | The level of organization that is less definite in plant is: ‘%Ws"'/‘ﬂu..,%ﬂ; tﬂuﬂg’ﬁemﬁ‘ﬂf 7| 35
(A) Tissue level (B) Organ level Jrde/ T (<) Jol# (=3)
(C) Organ system level | (D) Individual level Jro (2) Sl (¢)
Area of the environment, where an organism lives is
57 | called: e b/ T LUz 2u6J7t | 36
(A) Habitat (B) Biosphere egd («) BT (<)
(C) Ecosystem (D) Population d?‘) % (2) A (¢)
The part of Earth where communities of living L)
98 | organisms exist is called: \,9 =+Vﬂffw@ff ).4/ i U Lor kS UG 203 mi | 3T
(A) Armosphere (B) Oosphere O A (<) el (=3)
(C) Biosphere (D) Population S (2) ed! (©)
60 | The highest level of biological organization is: W Sz sibe o LRISTIZIZ | 38
(A) Species (B) _‘.‘Ti's‘gUex # (<) U (=3)
(C) Ecosystem )| i\ ’~Iéilosphere eld (2) A (¢)
61 | The mustard plant is sown in: e blolaiby6Ur ~ | 39
(A) Winter (B) Summer S8 (<) Ui (<)
(C) Spring (D) Autumn I7 (2) Un (©)
64 | The asexual reproduction in hydra takes place through: =+3ﬂa’.xéﬂwﬂfﬂ? LKL [ 40
(A) Mitosis (B) Budding % (+) Saf] (<)
(C) Cutting (D) Spore formation s (2) Sy (&)
65 | Budding process is found in: e bbby PEEL | A
(A) Fern (B) Onion g (<) o/ (<)
(C) Cockroach (D) Hydra LA (+) & /¥ (¢)
68 | ......... is a biomolecule: | A | 42
(A) Chlorine (B) lodine T (+) L (<)
(C) Proton (D) Protein iy (2) LY. (&)
69 | ... isanorgan: | T | 43
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(A) Stomach (B) Neuron %4 () 0.4 (=)
(C) Electron (D) Carbon K (2) s (&)
2 g S AL Aol AN U It
Areas where living things interact with the nonliving LI - Lstidplpl tes
71 | components of the environment is called: T
(A) Population (B) Community 5ok (<) o (2h)
(C) Ecosystem (D) Specie U (2) A (&)
Which of the following organism does not represent Y ar l s
72 | unicellular organization? SCLUE AT Ik Qpasplole ol | 72
(A) Amoeba (B) Volvox U (<) ¥ ()
(C) Paramecium (D) Bacteria L5 (2) o (¢)
74 | No. of steps of biological method are: A IS USRI | 74
(A) Four (B) Five &l (<) e ()
(C) Six (D) Seven =l (2) z (©)
75 | The first step to solve biological problem is: ek il TS A | 15
(A) Experiment (B) | Hypothesis formation W*"”r& (<) 0 (<)
(C) Observation (D) Deduction _Q b2 (5) 6 oul2s (¢)
77 _| To test the hypothesis biologists perform: fifil:}): Y 2O T 525 LU A 1T
(A) Experiments (B) Deduction 45 (<) F ()
(C) Observations (D) Hypothes__is?.'_‘*;f” U (») phl2e (&)
“Plasmodium is the cause of malaria.” This statement is
80 | a: R (Lo g oSty | 80
(A) Hypothesis (B) | .\ Deduction & () JF ()
(C) Theory D) | Law BE () S )
81 | The tentative explanation of the observations is called: e QU 2o loa WO foiglee | 8
(A) Problem (B) Hypothesis U 2 Ay (<)
(C) Deduction (D) Result # (2 A3 ()
82 | The logical consequences of a hypothesis are called: W WS Lo 4| 82
(A) Deductions (B) Observations 45 (<) 43 (—3)
(C) Biological problem (D) Theory o (2) S2r] (&)
At which point is a biological most likely to use )
83 | reasoning? s (/e pziedfiyrel” | 83
During hypothesis _ - )
(A) | While taking observation | (B) formulation Ll b (W) | sl loie | ()
(C) | During data organization | (D) None of these U 3s () | eni/ e | (@)
“Freezing point of water is less than its boiling point.” . .
84 | Which type observation is it? TP e f st BLA B | 84
(A) Qualitative (B) Quantitative St (<) Sk ()
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(C) Competitive (D) Non competitive Koily 2 (2) Koty (¢)
Quinine was the only effective remedy for malaria from . ,
87 | the: 1 Lo 21 LISk SSPE. ey AN
(A) [ 15thtothe 17th century [ (B) | 17th to the 20th century Srofrea? > | (&) | Sy ey | ()
(C) | 19th tothe 20th century | (D) | 16th to the 19th century S sl [Py () | Sreurteys | ()
88 | Quinine is obtained from the bark of: tednf b fdesns oS | g8
(A) Quina- quinatree | (B) Thuja tree ez il s () | ==sadsd | ()
(C) Cinchona tree (D) Pinus tree cdndJl (2) ST (&)
89 | A chemical found in the bark of cinchona plant is: e bl e U"L‘?k!;ufdlﬁitﬁf’& 89
(A) Aspirine (B) Tetracycline L 2 LA (=)
(C) Quinine (D) Morphane A (2) LS (&)
Lt bk L LA L
Who suggested that mosquitoes are involved in the kU et ‘/L/f“ e 4
90 | transmission of malaria? ‘Ul 90
(A) Laveran (B) Ronald ross ey () s )
(C) AF.A. king (D) None of these FHO o] Fewa | @
A doctor A.F.A. king made 20 observations on malaria ()Y
93 | in: A\ © :éal,gBAZOJ;L/:"Lﬁ eI 3L | 93
(A) 1883 AD (B) 1985 AD L SN 1 985 AD (<) 1883 AD ()
(C) 1829 AD (D) 1825AD ;0 1825 AD (2) 1829 AD )
98 | In sparrows malaria is spread by: _ e &AL ULZ | 98
(A) Culex mosquito B) |  Anoptieles mosquito Ak (+) AL (3)
(C) Marshy areas (D) Any mosquito /’f Uﬂ; Ljﬁ( (2) kg (&)
Only female mosquitoes bite humans and sparrow to . o
99 | cause malaria because: Sl e QUL A S U0 Al | g
6 sk gl JW S
They need blood of | L E S usnie
mammals and birds for Male mosquitoes cannot , '
(A) [ maturation of their eggs [ (B) bite EF KA («) cbrgl (3)
Plasmodlu_m can survive Us Al A
only in female ) ) '
(C) mosquitoes (D) All of these 1 (2) e Loniit (&)
100 | The female mosquitoes need......... to grow their eggs: -G pd LU SuskigfusAnl | 100
(A) The blood of birds (B) | The blood of mammals Jus LM (+) JuFLlusiy (<)
(C) Both (D) None of these 3 (2) U712 (&)
The growth of plasmodium in human body takes place § .
101 | in: :q_dnv,ﬂ J ﬂmgu:uyuu 101
(A) Stomach (B) Small intestine AT (<) os (3h)
(C) Liver (D) Kidneys SunS (2) e @)
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7 bédad.‘talo“,_ ,l.? S e 2 «-“’
The hypothesis, which are often tested and never U{’ L /U,’w"( o bj, e
106 | rejected become: w1 Unss | 106
(A) Laws (B) Principles Jr! (<) L (<)
(C) Theories (D) Results = (2) v (&)
107 | The senses used by biologist for observation are: i b /U & LalplsdfL T | 107
(A) Two (B) Three & (<) By ()
(C) Four (D) Five &L (2) e (@)
Biologists use discussion and reasoning procedure to Y
108 formulate a: :w“ejﬁéfdb‘pi;é{)b/dUﬁ‘Uﬂ&ﬁﬁjﬁ:L 108
(A) Hypothesis (B) Law B2l («) U ()
(C) Theory (D) Data 3 (2) Sux® (&)
110 | A scientific law of principle is an irrefutable: e I ZFCCLI e BEL [ 110
(A) Hypothesis (B) Deduction gt () Sal? (3h)
(C) Experiment (D) Theory 4 __ (2) of (&)
Classification means the grouping of organisms on the v _o(ON . O
114 | basis of: <t/ (:" uﬁumf,;;yd/ ........ Uil /a_cﬁ.'é*" €| 114
The features they have in |\ o . ‘
(A) How they feed (B) common Aatsil L7 («) | 2feids | ()
(C) How they breathe (D) | How they can survive 1| ) B e LG (2) I (&)
, _ | i F e Isie e ol 2GS ... S
Species that are in the same ......are more closely, . . i
115 | related than species that are in the same ... o\ “UnJEU...... Gl 2l [ 115
(A) Phylum — class (B) | Family— order Py (+) S ()
(C) Class — order (D) |+ Family - genus USRS (») ATk (©)
Members of the same species living in the same time i .
118 | make a level: e Jdbunz L LG Lt Lz 2emeL | 118
(A) Population (B) Community 5ok () Ol (3h)
(C) Ecosystem (D) Habitat < (2) A (¢)
MLt A Lo S U\ M il s UG Slkor
The areas where living organisms interact with - LZJJJ ) u"LJJ LIt S
119 | nonliving components of the environment are called: b | 119
(A) Population (B) Community 5o (<) Sl (<3h)
(C) Ecosystem (D) Species LU (2) Ak (&)
121 | The genus is a group of related: o/ L s & e SE L | 12
(A) Orders (B) Species A () B (=3)
(C) Classes (D) Families e (2) 7 (@)
122 | The taxon of order was introduced by: /ST | 122
(A) John Ray (B) Rivinus LU s (<) st ()
(C) lbn-e-Rushd (D) Aristotle Lkl (2) L P! (©)
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‘,{!‘Llu( u»;(gérl.:"l O‘j’ JL’ 174"

123 | Biologists know ......... types of animals: 123
(A) 1.5 millions (B) 0.5 millions 0.5 2 (+) 1.5 ot (<)
(C) 8.3 millions (D) 3.8 millions 3.8 - (+) 8.3 (©)
126 | The largest taxon is: e erfize e | 126
(A) Family (B) Order A (<) g )
(C) Class (D) Kingdom i (5) U )
o '(I:'gltleelzlr:anch of biology which deals with classification is :4.3 M“LL ‘ﬁg‘{uf Jw&é@” Saséi | 1o
(A) Anatomy (B) Taxonomy gL («) S (=3)
(C) Physiology (D) Histology Gt (2) Gy ()
129 z\ll'g:r:?st::: lI;I(():re fcilrg:ii?l’:;em of classifcation of Sl S | (j_/ L«%’éﬂ{ T s/ 2y & LoFy” 129
(A) Aristotle B)|  Robert Whitakar AT (<) Iy (3h)
(C) Artist Hackel (D) Carlous UK (2) Saa T (&)
131 | Viruses are assigned to the Kingdom: Ce bl JEU T e ud i | 134
(A) Fungi (B) Monera AL () d¢ ()
(C) Protista (D) None of these | )ufdfu-f ol (2) sy (¢)
A certain organism is multicellular adapted for e J/ji' JE kB (F /x‘f& Shea B s
photosynthesis and has multicellular sex organs. To [} ‘ ‘ "
132 | which kingdom does it belong? A | ?i'-“—rﬂ =T ¢ | 132
(A) Protista (B) Fungl i (<) sy ()
(C) Plantae (D) Antmalla s (2) S (&)
s Lnur(v:r;::t:;ggdom would you clasglfy Unicellular S g e oA FHP1A 8y | 133
(A) Fungi and protists (B) Fungi and monera ey 3 (<) S (<)
(C) Only protists (D) Only fungi g 2 (2) sy (¢)
136 | Which organism is included in kingdom monera? ?4‘—6‘—'/3!”(1@, Fleases =t | 136
(A) Virus (B) Algae & (<) J s =)
(C) Fung (D) Synobacteria L2 (2) d¢ (&)
137 | Kingdom of ferns is: te e Fe o/ 6/ | 137
(A) Fung (B) Protista sy (<) ¢ ()
(C) Plantae (D) Animalia Lo (+) Sk (&)
All the members of which group intake their food by Lbl_uff)ﬁfu» W/"Vénj‘iféu*&w
140 [ absorbing in the body? 't | 140
(A) Protists (B) Fungi J¢ (<) S 24, (=)
(C) Bacteria (D) Animals e (2) L 25 (@)
Who introduced the five kingdom system of . . X L5
141 | classification? e UL B LT K |
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(A) Aristotle (B) Carolous Linnaeus SESK () £ =)
(€) Robert Brown 0)|  Robert Whittaker AT (2 Sy @)
. ;I;I:z) 2;?;1;?::& category of organisms in biological :+3 s ﬁfaﬁu Soto 2 SIE Ji'?);fg -
(A) Class (B) Phylum K (o) U ()
(C) Kingdom (D) Family S (5 o4 @)
146 | Basically, cell membrane is made of: el A J 2600 | 146
Carbohydrates and , )
(A) proteins (B) | Carbohydrates and lipids il | () | et sl | ()
(C) | Proteins and vitamins | (D) Lipids and proteins e (2) o AV (©)
147 | In fungi, cell wall is made of: el U0¢ | 147
(A) Lignin (B) Cellulose i (<) A ()
(C) Peptide glycon (D) Chitin 41 (4) BEQY 5172 )
148 | Thin layer of inner membrane of mitochondria is called: Qb2 LAl A dran Lk | 148
(A) Christy (B) Metrics S (+) 5/ ()
(C) Struma (D) Thylakoid M'[W (2) bs (¢)
The part of earth inhabited by organism’s communities N\
149 | is known as: /\,) 018yt At Ul Lo Uz 206 | 149
(A) Habitat (B) Population DY M () LAt ()
(C) Community (D) Biosphe\f\e-"{;_‘{ gd (2) 5 (&)
In binomial nomenclature, the first letter of the ...x.... L.
150 | name is capitalized. <\ -~ bl 207 gkt L. LA IS8 | 150
(A) Family B)| ¢ -i_-:.:{i; Class JK (<) J (=)
(C) Genus D) | J Species U (2) Je (©)
153 | Scientific name of human being is: et L6 | 153
(A) Pisum sativum (B) Homo sapiens T 2 (<) gt )
(C) Rosa indica (D) Allium cepa b (2) 6411737 (&)
154 | Scientific name of house crow is: =<;-er e, e | 154
(A) |  Corves Splendens | (B) Allium Cepa L £ («) ik o ()
(C) Rana Tigrina (D) Asterias Rubens FaJ L (2) (A (&)
157 | Himalayan jungle project was started in: :m&:}:,?:,;ﬁ,lh 197
(A) 1991 (B) 1995 1995 (+) 1991 ()
(C) 1997 (D) 2013 2013 (2) 1997 (©)
158 | Sea star (Star fish) eats: =¢:—3‘;‘-§{ Js4< | 158
(A) Algas (B) Fung J¢ () d (3h)
(C) Protests (D) Snails S (2) Vol 2/, (&)
159 | Pakistan’s national bird is: h:-'-”-f,d;’. gc)"'/.& 159
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(A) Chakor partridge (B) Parrot by () C ik (=)
(C) Sparrow (D) Pigeon 74 (2) Lz (©)
161 | Which is the national animal of Pakistan? =«<;—J;led;" le'}@ 161
(A) Cow (B) Markhor e (<) ¥ (<)
(C) Sheep (D) Buffalo g (2) < ()
168 | The use of microscope is called: =+Wf( J'f”’"@’c' £ | 168
(A) Magnification (B) Resolution sz («) FEFE (=3)
(C) | Compound microscope | (D) Microscopy 3L (2) Sy 15 (&)
169 [ The first microscope was developed by: ?Jf.t?i-c/ ?,ﬂ YN 169
(A) Zacharias Janssen (B) Matthias schleden Ly (<) L eIk ()
(C) Aristotle (D) Robert Brown L3l sl (2) Sy (&)
Human eye can distinguish two objects placed at a X
170 | distance of: A Syt L2 7S5 U2 ETI | 170
(A) 0.05 mm (B) 0.1 mm 0.1mm (+) 0.05 mm (=3)
(C) 0.08 mm (D) 0.5 mm 0.5,mmf“:}"\ (2) 0.08 mm (©)
171 | A photograph taken from a microscope is called a: ) =<;-JJJ¢( 4ﬁéﬁ¢vﬂyf Ll 171
(A) Microscopy (B) Resolution | 2802 (+) gt (<)
(C) Micrograph (D) Magnification e FE (2) Yyl (&)
172 | Magnification of light microscope is: <© <4 =+‘f’g Fdf e | 172
(A) 300 X (B) _4500X 1500 X (<) 300 X ()
©) 750 X 0| <\ 3800 3500 X () 750 X (©)
175 | The movement of amoeba can be studied by: bl ;’WV&J‘/ 78| 175
Transmission electron oA
(A) microscope (B) Light microscope S Y («) Sy d (=3)
(C) Electron microscope | (D) Hand lens 2 () | =cF K | (@)
176 | When was nucleus discovered in a plant cell? S Ui Ly | 176
(A) 1831 AD (B) 1664 AD 1664 AD () 1831 AD (=)
(C) 1833 AD (D) 1834 AD 1834 AD (2) 1833 AD (©)
177 | Who discovered nucleus in a cell in 18312 tWessi o U 21831 | 177
(A) . Pasteur (B) Schwann i (<) LA (<)
(C) Schleiden (D) Robert Brown il sl (2) Lyik (&)
180 | Robert Hooke used microscope to examine cork in: =W4lf*(~0(c‘—~;!¢ Y 5 S-— L | 180
(A) 1958 (B) 1665 1665 (+) 1958 (=3)
(C) 1560 (D) 1470 1470 (2) 1560 (¢)
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“All cells are formed from pre-existing cells.” Is the

181 | saying of: e Jd o dtd e Konra K0 | 181
(A) Pasteur (B) Robert Hooke bl 1. - 74" ()
(C) Darwin (D) Rudolf Virchow LD (2) K3 (&)
182 | The first microscope was made in: =Ci-,-«!¢:/? 1| 182
(A) 1995 (B) 1895 1895 () 1995 (=)
(C) 1595 (D) 1685 1685 (2) 1595 (©)
184 | Who discovered nucleus in plant cell? Seind o U etk Ley | 184
(A) Robert Hooke (B) Robert Brown LSl re sl (<) LA (<)
(C) Leueen Hook (D) Schwann Ly (») LSy (¢)
The ....is the membrane enclosed structure in ;ﬁrDNAKufwgﬁ%Jfaﬁvautﬁ/dﬂfjgﬂ
187 [ eukaryotic cells that contains the DNA of the cell. fe | 187
(A) Mitochondrion (B) Chloroplast e (=) K ()
(C) Nucleolus (D) Nucleus Vot (2) e (¢)
188 | Ribosomes are constructed in the? < (O bl Uy | 188
(A Endoplasmic (B) Nucleoid - (<) s (=)
(C) Nucleolus (D) Nuclear pore. ’/“;; Sy Hy (5) Sy ()
Rough endoplasmic reticulum is the area in a cell where |-/
189 | ....... are synthesized. AN ‘-'%t'le!.f‘/ ,g;[, -------- Iz Beossit L H / &"-OL#’@UJ 189
(A) Polysaccharides (B) Prote.insf.,f ey (<) oy ()
(C) Lipids (D) NA = 1S3 (2) % (%)
Smooth endoplasmic reticulum—---i'S_ ,tﬁe‘;area in a cell g ul{z‘érw”méw');&“m‘&’mjf
190 | where ....... are synthesized. Y1 190
(A) Polysaccharides (B) Proteins iy () 13174y (=3)
(C) Lipids (D) DNA IS5 (2) i (©)
193 | The chloroplast functions in: ﬁé{’@f t{é‘*’l!;wg 193
(A) ATP synthesis (B) |  Protein synthesis Sy («) ATP $.ed ()
(C) Photosynthesis (D) DNA replication DNA % .4 (2) P (&)
194 | Which of these cellular organelles have their own DNA? se sz DNAYVE A =0 | 104
(A) Chloroplast (B) Nucleus S (<) Loy ()
(C) Mitochondrion (D) All of these Vs (2) owitd (&)
195 | Microfilaments are made up of a protein: =+zuzz‘_n4£eﬁs4uﬁu’“ s L 195
(A) Actin (B) Tubulin g (<) i )
(C) Flagellum (D) Myosin Ogd’ (2) (L) >3 (&)
198 | The secondary cell wall of plant cell is made up of: e G K Loy | 198
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(A) Cellulose (B) Chitin SJ¥ (<) Sk (<)
(C) Lignin (D) All of these v (2) i (¢)
199 | The cell wall of fungi is made up of: _ =q-3ﬂc.3<dbd~’ S3¢ | 199
(A) Cellulose (B) Lignin S (+) Siddk (<)
(C) Chitin (D) Peptidoglycan Suf 64t (2) SI¥ (@)
200 [ The cell wall of prokaryotes is made up of: _ =q-(3ﬂ<3'-dbut’ JJ a.'/z(’/.,. 200
(A) Cellulose (B) Lignin S («) Sidd (=3)
(C) Chitin (D) Peptidoglycan Juf ity (2) SI¥ )
203 | Which of these do not have cell wall? B dLt Unk Ut e o | 203
(A) Fung (B) Algae J () S ()
(C) Prokaryotes (D) Protozoa 139743 (2) S (&)
204 | What is called the layer of cutin in plants? W 7L tury | 204
(A) Cuticle (B) Epidermis A (<) 5.4 ()
(C) Cortex (D) Leaf hairs TR (+) A (¢)
207 | The fluidity of cell membrane is due to: _ o) ‘%e’&;dééhﬂc{/ J | 207
(A) Protein (B) Vitamin 3\t (+) S ()
(C) Lipids (D) Glycerine LA (2) % ()
208 | Elasticity of cell membrane is due to: LN e od Pty A | 208
(A Lipid ) Wler s (=) % ()
(C) Protein (D) ._,.f\‘/iiafhin J s (2) S (&)
209 [ The stock of thylakoids is called: ) UL 2L | 209
(A) Leucoplast (B) Struma s & («) 2t (=3)
(C) Cristae (D) Granum - (2) g (&)
210 [ Which of the following is not a part of a cell membrane? ‘-'é—tﬁ" WA E U = | 210
(A) DNA (B) Minerals > («) O (<)
(C) Carbohydrates (D) Lipids 2% (2) ALK | @
211 | The organelle which produces energy is called: =+V/('4@L§f'£&%7v 211
(A) Ribosome (B) Vacuole ks (<) Py ()
(€) Nucleus (D) Mitochondria L (5 Vol ()
214 | The number of sub units of ribosomes is: :4‘_,1,&?0’ S drlpril | 214
(A) Two (B) Four e =) » ()
(C) Six (D) Eight #T () Z (@)
215 [ Where are ribosomes synthesized? U el | 915
(A) | Endoplasmic reticulum | (B) Nucleotide Sty («) | AL | ()
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(C) Nucleolus (D) Nuclear pore SVl (2) ok (&)
217 | In cell aerobic respiration sites are: wwﬁ’? Jﬁ/.:?"'vu.fb:.’ufdf 217
(A) Golgi bodies (B) Ribosomes el (+) ¥ (=3)
(C) Mitochondria (D) Chloroplast 2ot (2) LoxEF L (&)
218 | The function of mitochondria is: i (6L AEAL | 218
(A) Lipid storage B) |  Cellular respiration O (+) a3 ()
(C) Protein synthesis (D) Photosynthesis il (2) (e (&)
Rough endoplasmic reticulum serves a function in the
219 | synthesis of: oA G0l S | 219
(A) Carbohydrates (B) Protein iy (+) XN ()
(C) Lipids (D) Vitamin b (2) Jfg (©)
220 | Which of the organelles have their own DNA? ‘-'q‘-—t'ﬂc'c{'dfl%’uf&cﬂ/ s | 220
(A) | Endoplasmic reticulum | (B) Ribosomes Va2l (<) | AFE s =)
(C) Mitochondria (D) Golgi bodies BGE (5 LS @)
221 | Golgi was awarded Nobel prize in: W71, 5¢ | 221
(A) 1908 (B) 1807 01807 ) 1908 ()
(C) 1906 (D) 1916 21916 () 1906 @)
227 | Major component of plant cell wall is: PN hc-"d:.l:’fwbc}f J«’-ﬂ,’ 227
(A) Chitin (B) Peptidoglyga‘\ri‘/j L4115 178 (=) 1 (3)
© Cellulose (D) Cholesterol Ji 2 () 9k ©)
228 | Ribosomes are sites for synthesis of: LSS e iU | 228
(A) Proteins B | RNA RNA (<) sy ()
(C) DNA (D) Glucose ¥ () DNA ()
229 | Struma is found in: e bllls ~ | 229
(A) Mitochondria (B) Ribosome ged) (+) e’ (=3)
(C) Golgi body (D) Chloroplast s (2) S1G¥ (©)
230 | The most common chemical in primary cell wall is: e S ol S S A4 | 230
(A) Glucose (B) Cellulose Ak (+) o E (<)
(C) Fructose (D) Maltose 7! (2) P (&)
231 | The major energy production centers are: AL | 231
(A) Plastids (B) Mitochondria it (<) J&lk ()
(C) Ribosomes (D) Golgi bodies BU¥ (5 reiv | @
234 | The site where ribosomal RNA is formed is called: e bape TS r Az Ufg 02 | 234
(A) Chromatin (B) Cytoplasm g% (=) b )
(C) Mitochondria (D) Nucleolus iy (2) il (©)
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235 | The ribosomes are made in: Wyl | 235
(A) Nucleus (B) Nucleolus S Ey (+) Sy ()
(C) Endoplasmic (D) Reticulum S (+) itk (&)
236 | Microtubules are made up of ......... proteins: e 2 GnGdFry L et AL | 236
(A) Hemoglobin (B) Myoglobin FEL (<) B2 )
(C) Actin (D) Tubulin S (2) b (&)
241 | Gas exchange in gills and lungs occurs by the process: =+Vﬂ4'—3.’.-/’d?~"wuﬁf St F | o
(A) Diffusion (B) Osmosis J7 (<) i (<)
(C) Active transport (D) Turgor g (2) 21 28 (©)
The moven]ent of molecules f_rom an area of Io_wer: b b3 P 3 i sk s 3t d_1s 16 ﬁ,_w L
concentration to the area of higher concentration is y
242 | called: < | 242
(A) Diffusion (B) Osmosis 7 (<) O (<)
(C) Passive transport (D) Active transport a1 255 (2) L Pk (¢)
The mover[\ent of molecules from an area of I]igh_er ARy e A?;};;bﬁul &_Lw Lo Aok I 2
concentration to the area of lower concentration is PR
243 | called: O | 243
(A) Osmosis (B) Active transport \, 52 (+) T (=3)
(C) Diffusion (D) Passive transport ~ 7 | DY i (2) a2 (&)
Which of the following tissue layer is found in all blood " | .
244 | vessels? . te Qe P il 2SSl | 244
(A) Smooth muscles (B) Endq‘thél'ilﬁ\r\ﬁ @Ij ¥ (<) i (=)
(C) Skeletal muscles D) | H‘CQh‘hlecﬁt/ive tissue H (2) S (©)
245 | Plant tissues which have ability to divide are: e bmrrepifin® EFHnlesy| 45
(A) Epidermal tissues (B) Ground tissues s S (+) E S A (3)
(C) Support tissues (D) Meristematic tissues I (2) O (&)
Which types of muscles are responsible for bird’s
246 | wings flapping? Ste P s EEAAS U Luriyg | 246
(A) Skeletal muscles (B) Smooth muscles > 7 - (<) o (=)
(C) Cardiac muscles (D) Epithelial tissues o (2) F LK (&)
247 | Permanent tissues originate from the tissues: b S AN
(A) Epidermal (B) Merisstematics A s () J A (=3)
(C) Ground (D) Xylem s (5 w31 @)
248 | Cardiac muscles are present in walls of: =U.?i-lf2’-guﬁuu'z.’:d/- -------- » LK | 248
(A) Lungs (B) Heart dUs (+) Sug® (<)
(C) Kidney (D) Stomach Jows (2) SunS (&)
- Zpee :;s"set:ie:s which are made up of single type of cells DL Uogtn e 7 fid %230 | 240
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(A) Permanent tissues (B) Compound tissues b (+) Heily (=)
(C) Support tissues (D) Simple tissues ey (2) IO (&)
250 | Polymer of amino acids and sugars is: 3 {.’51‘/( Pulikd#U | 250
(A) Peptidoglycan (B) Glycolipid i F 8 () o ¥ b (=2)
(C) Phospholipid (D) Glycogen oF f (2) i #6 (&)
255 | During which phase of mitosis spindles are formed? st Al ot b p LRV | 255
(A) Prophase (B) Metaphase 2z =) 214 (=3)
(C) G2 Phase (D) Interphase 2 (2) 226 (&)
In which stage of the cell cycle, the cell is preparing to Lg/'ﬁ’éLﬁ%ﬁfﬁm/&dzk/g/&fvw
256 | begin DNA replication? et | 256
(A) G1 Phase (B) S Phase A (+) 216 (=3)
(C) M Phase (D) G2 Phase 223, (2) A (&)
- :Ir:, ;vsh;ch stage of the cell cycle cells spend most of their o fﬁj}’u,tjwdfcui'£/a.uf£ Kok -
(A) Prophase (B) Metaphase /" b G CANE® y-2% (3)
(C) Interphase (D) Telophase . A (2) 2 (©)
261 Lrléﬁﬁéﬁ'dﬁcm;:e"s PRy e permanentlly\ e \\: R— ?wa"_lg._.'/;tx(..‘“y -"-‘v'.,'l-/,.t.z;»"db oK 2 261
A G B Mphase o\ |  MA (<) G ()
(C) S phase (D) GO phase GO 2 () S ? @)
262 | Chromosomes are visible during: ~ T mL....... /| 262
(A) Interphase B) | - G1 phase G172 (<) 2 E ()
(C) S phase (D) ™ Cell division ity 4 (2) S/ (@)
263 | Chromosomes are composed of: Bz pres) | 263
(A) Lipids (B) DNA IS ) (<)
(€) RNA 0)|  DNAand protein Fap eSS (2 D @)
267 | The division of cytoplasm is called: 4;-(311{ r’-ﬁ Jrll%.f"’ V| 267
(A) Karyokinesis (B) Cytokinesis el A% (<) A6y ()
(C) Kinetokore (D) Mitoses J7 A (2) A (&)
268 | During which phase of mitosis, spindles are formed? tus Skt A S0 | 268
(A) G2 (B) Interphase 9 (<) G2 ()
(C) Prophase (D) Metaphase 2z (2) - (&)
269 | Complete set of spindle fibre is known as: bl erJes bk | 269
(A) Centrosome (B) Mitotic spindle Jir I («) (¥ )
(C) Centromere (D) None Ny (2) A2 (¢)
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Which phase of cell division is very different in plants

270 | and animals? Sl e U siung A wi Y, Fﬁ. S| 210
(A) Meta phase (B) Anaphase 2L («) 2Lz (=)
(C) Telophase (D) Cytokinesis AL () )24 (@)
271 | The division of nucleus is called: e Ol Fﬁ Sty 271
(A) Synapsis (B) Cytokinesis AP () b (=3)
(C) Karyokinesis (D) Interphase 2 (2) A (&)
The animal which produces lost part with the process of
272 | regeneration is: g et ¥ e B L RS2 ens | 272
(A) Paramecium (B) Sea star =Y (<) ﬁf“/ Ve (=3)
(C) Sea lion (D) Sea urchin oA (2) JIS (&)
- gmrmgr; opm??e of mitosis nuclear envelop of a cell is o b bi ek i Sl -
(A) Prophase (B) Metaphase Az (=) 2y (=3)
(C) Anaphase (D) Telophase 2K (2) Al (&)
274 | Regeneration process is found in: Ul B A6 26 | 274
(A) Hydra (B) Funaria | (4% («) e (=3)
(C) Moss (D) Sea star Vs (2) J¥ (©)
277 | Error in the control of mitosis may cause: \(1 %—Cﬁﬂd—fﬁ LIS FTTI0 | 2t
(A) Cough (B) Constipat‘ignﬁ_d';ff; e (<) U) e (=)
(C) Ulcer (D) C:atn‘cef‘.‘f S A (2) # (©)
278 | Process of formation of new tumorsi§~k;16§vﬁ as: IS L& 22 | 218
(A) Synapsis (B) |\ Crossing over sssl S («) b 1 (3)
(C) Metastasis (D) Regeneration Oar () (2) al (¢)
A tumor, which remains in their original location is
279 | called: e bl ee by LS8z 240 | 219
(A) Malignant (B) Benign 53, () By ()
(C) Metastasis (D) Al g% (4) l )
280 | Mitosis consists of ......... phases: 1Ly - S 280
(A) One (B) Two 2 (<) £ (<)
(C) Three (D) Four e (2) B (¢)
During which phase the metabolic activities of cell are . X
283 | very high? st ende S rle§ k20| 283
(A) Prophase (B) Metaphase Az () 2oy ()
(C) Interphase (D) Anaphase 2 (2) A (©)
Which organisms regenerate its lost parts through )
284 | mitosis? ?%E'ét:uibﬁé_ﬂafé_léﬁﬁu/ ﬁdt;lilgUf 284
(A) Sea star (B) Horse L4 () o ()
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(C) Mosquito (D) Frog S (2) A ()
287 | Meiosis was discovered for the first time by: Yeilndia o JU78 | 287
(A) Rudolf Virchow (B) |  Walther Flemming kA (<) Zdiin (<)
(C) August Weismann (D) Oscar Hertwig S P (2) el (©)
In which organism the Thomas Hunt Morgan observed ‘ i
288 | the phenomenon of crossing over? Wosl o E1S L A Bt it | 288
(A) Bat (B) Mosquito % (+) 3z (<)
(C) Fruit fly (D) Sparrows ULz (2) Ay @)
The exchange of parts of chromatids of homologous
289 | chromosomes is called: =§-L“U%{ A Ur? LS L s/, uf Jyn | 289
(A) Chiasmata (B) Crossing over sl 1S (<) bailS )
(C) Linkage (D) Phragmoplast 2oyt (2) & (¢)
Which of the following distinguishes meiosis from . y
290 | mitosis? S0/t ey IS YU | 290
The chromosomes Chromosomes undergo / . _
(A) number is reduced (B) crossing over S s S, fé’“_;"f/ (<) | <l b rrvss | ()
The daughter cells are P O\ K bk
genetically different from ) )
(C) the parent cell (D) All of these PRt (2) Ul il (©)
294 | During meiosis one cell divides into daughter cells: | /\\i D0 e b S M S Ll Z U708 | 204
(A) Two (B) Three </}~ o (<) . (3h)
(C) Four (D) Eig ht ,_._.T_:..fj:f,. 7 (}) th (6)
295 | Chiasmata is formed during: R e Blnd........ bl | 295
(A) Metaphase B)| ¢ Anaphase 2L (<) 2z )
(C) Prophase D) | Telophase y-23 (») Py (¢)
298 | Accidental death of cells and living tissues known as: Qb =rdbSithiin X | 298
(A) Cancer (B) Apoptosis U Al (<) A (—3)
(C) Necrosis (D) Both Aand C sl I (2) Uk (&)
301 [ The concept of metabolism was first of all given by Sl g’ eIt | 301
(A) Kuhne (B) Koshland il (+) &S (<)
(C) Ibn-e-Nafees (D) Emil fisher A (2) 2 )
302 | The term metabolism is derived from which language? St LU 70t | 302
(A) Latin (B) Greek 3 () 32 ()
(C) German (D) Arabic G/ (2) Gz (©)
The biochemical reactions in which larger molecules . .
303 | are synthesized, are called: e I Byt R A S s | 303
(A) Anabolism (B) Catabolism 22l (<) ekl (<)
(C) Metabolism (D) Enzymatic reaction S (2) 7 e (&)
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All biochemical reactions occurring in living organisms

wsﬁ“A Lsf ;szﬁﬂdj‘ﬁf;f VL e s Llons ]

304 | necessary for life are called as: s | 304
(A) Metabolism (B) Anabolism ¢ Ak (<) 225 (<)
(C) Catabolism (D) Mutalism ex () o2 ()
305 | Who used the term enzyme first time? WU 5050 | 305
(A) Oscar Hurtwig (B) Winhelm Kuhne LA (<) bref FT (=3)
(€) W- Fleming (D) T H Morgan SAENS (5 el ks ()
306 | Almost all enzymes are: (A '7?-'("7[:. 7 | 306
(A) Protein (B) Vitamins Vaz () 734 (=)
(C) Carbohydrates (D) Fats S (2) ALK (©)
311 | The molecules at which enzymes act are called: .2 ’ﬁlwzdzg | 311
(A) Products (B) Substrates U (+) 5t )
(C) Catalyst (D) Enzymes A7 (2) 2 (&)
312 | Enzyme used for cleaning utensils is: M@’%‘zédh“"ﬂ"ﬁ%—ﬁi-/ Sedusz | 312
(A) Amylase (B) Trypsin @9 A ()
(C) Lipase (D) Tylon ol ) \Jke (2) el (@)
313 [ The name of enzyme used in dish washing is: ol e (AR n e Bugs | 313
(A) Protease (B) Lipase 72" | i (<) s ()
(C) Amylase (D) Pep‘s\in‘i‘f S = (2) A (@)
314 | Enzyme pepsin works in: PN e b KT | 314
(A) Mouth B) [<{® " Intestine = (+) - (<)
(C) Oesophagus (D) Stomach 4" (2) A (©)
AUnlne 2B LS B LA s B LT
315 [ When organic co factors are tightly bound to enzyme? W | 315
(A) Co enzymes (B) Appoenzyme e (+) Ay =)
(C) Co factors (D) Prosthetic group SyE gy (2) by (&)
316 | The catalytic region of enzyme is called: et Fo 6 17 | 316
(A) Active site (B) Cofactor S () e ()
(C) Co enzyme (D) Metabolic site Al (2) i (&)
317 | An enzyme, which breaks down starch is: ¢ b3 B 2 | 3T
(A) Protease (B) Amylase Adu (<) 7y, ()
(C) Trypsin (D) Lipase e (2) O (&)
318 | Vitamin acts as co enzymes is: LS Kb LANT gt | 318
(A) VVitamin B (B) Vitamin D Dot (<) Bests ()
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(C) Vitamin C (D) Riboflavin L) (2) Co'ts (@)
321 | Lipase enzyme acts on: c;-b'/ rK};,du 321
(A) Lipids (B) Proteins L, (<) 4% ()
(C) Glucose (D) Starch 4& (2) IE (©)
322 | In protein metabolism, ......... works as a catalyst: e b S p LS. Sy | 322
(A) Amylase (B) Lipase ol (<) Adu ()
(C) Pepsin (D) Protease P () g ()
323 | Who presented induced fit model? WMLl O | 323
(A) Daniel Koshlann (B) Emil Fisher AN () RIS (<)
(C) Abn-e-Nafees (D) | Jabir bin Hayyan Lol (5 LA @
327 | When did Daniel Koshland purpose induced Fit model? S S Ui byl s s | 307
(A) 1894 (B) 1958 1958 (+) 1894 ()
(C) 1968 (D) 1985 1985 (2) 1968 (©)
328 | Biological detergent is: oLz URIAL | 328
(A) Protease enzyme (B) Pepsin () Ay )
(C) Riboflavin (D) Thiamine (2) SrLD ()
331 | In which medium enzyme trypsin works? Al g St/ K F IS ) | 334
(A) Alkaline (B) Acidic 70 | o (<) T (3h)
(C) Neutral (D) Slighj[‘baéi‘c\ L () J Q
Enzymes used for removal of protein stains from ,
332 | clothes is called: e L LL sl Zdsiequid 2/ | 332
(A) Pepsin B) | N Amylase Adu (<) Uk =)
(C) Protease (D) Lipase b (2) 7 (¢)
333 | Which of the following acts as catalyst for metabolism? St /b Le i diuivio | 333
(A) Enzymes (B) Vitamin s (<) A1 (<)
(C) Lipids (D) Protein Fay (2) % )
334 | The loss of electrons is called: e b TIIK 2 | 334
(A) Reduction (B) Hydration ) («) o (<3h)
(C) Oxidation (D) Electrolysis s A (2) AT (&)
336 | ATP was discovered by: Weinddde | 336
(A) Fritz Lipmann (B) Calvin Lo (<) Lot =)
(C) Karl Lohmann (D) Hans Krels Lt (2) LI (&)
338 | When was ATP discovered? i o Bt | 338
(A) 1909 (B) 1919 1919 (<) 1909 (3h)
(C) 1929 (D) 1939 1939 (5 1929 ©)
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339 | Number of phosphate groups in ATP molecules is: FRYNB A LUt f '-QJU 339
(A) Two (B) Three o (<) ¥ ()
(C) Four (D) Five &L (2) S )
340 | Adenine is nitrogenous based with: e VAU il L | 340
(A) Single ring (B) Double ring Bt () s £ (<)
(C) Triple ring (D) Straight chain I FS 4 (2) s b}/ (&)
How many ATP molecules are produced by a NADH in :
341 | electron transport chain? Se_ bt DL LATP s’ 23 2NADH ; | 344
(A) One (B) Two 7 (+) £ (<)
(C) Three (D) Four e (2) o4 (©)
3 :;lr ev:r::ttj? component of the leaf cells, chlorophyll is ?e:-b'lfkgdsu Fit o ol )L’z:*% 3
(A) Struma B) |  Plasma membrane LAVl (<) s 2 (<)
(C) Thylakoids (D) Cytoplasm L (s) 19 W5 (©)
In which of the following metabolic processes, dmﬁuyiz;%gi%:&ﬁa/fd/ﬂ;?wtJ’Jx&:a.w/
344 | oxidation as well as reduction of molecules occur? fe | 344
(A) Photosynthesis | (B) Respiration Oz (<) P ()
(C) Both A and B (D) None of these [ SN (2) U9 (&)
45 | wavelengths of O ot eSS e ofefbu¥ | us
(A) Green and blue (B) Green and red Lol (+) Ul o ()
(C) Green only (D) LRe}i\ and blue. Sl (2) b (&)
346 | Regulate the opening and closing of éibma: PRIy LL S EL SanZ L 346
(A) Calcium (B) Phosphorus o (<) = ()
(C) Sulphur (D) Potassium ey (2) ¥ il (&)
350 | Stomata cover the leaf surface only: AR ffd"’%@:ﬁ" 350
(A) 1-3% (B) 2-3% 2-3% (<) 1-3% (=)
(C) 1-2% (D) 3-4% 3-4% (2) 1-2% (&)
......... of the light falling on the leaf surface is . . . " .
351 | absorbed, the restisreflected: | e ‘%dlf”"'uﬁ, Olsteoncioe 8% 40%20 144 | 351
(A) 0.1 (B) 0.2 0.2 (<) 0.1 ()
(C) 0.01 (D) 0.5 0.5 (2) 0.01 (¢)
393 | Which tissues are the sites of photosynthesis? ?‘Laﬂ/y HAS | 353
(A) Trachieds (B) Mesophyl Poe (<) Y ()
(C) Collenchyma (D) Sclerenchyma A5 (+) 5SS (&)
354 | The important photosynthetic pigment is: %vfﬁ $A1 | 354
(A) Carotenoids (B) Chlorophyll-B Sk (+) 05 ()
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(C) Chlorophyll-A (D) Chlorophyll-AB Jet Forff (2) ] (©)
356 | Raw material for photosynthesis is: w2 &35 | 356
(A) Water and oxygen (B) Carbogx(;l;é!r?e o F Tt T3k | (<) I Tl )
(C) Glucose (D) | Water and carbon dioxide AT 3B (+) ¥ | (¢)
357 | By product of photosynthesis is: =+¢@'34JW/J 79| 357
(A) Carbon dioxide (B) Carbon monoxide JAST Iy K (+) AT e 6 ()
(C) Nitrogen (D) Oxygen ST (2) UYL’ (&)
358 rhgtr:;:;n':z:s?: f;‘;gr;‘;';f.} lantreactions of st P21l k2 Lo | 358
(A) Outer membrane (B) Inner membrane LA sk () LA bz )
(C) | Fatty acids and glycerols | (D) | Thylakoik membrane LA N3 (2) oA kNG (©)
362 | Dark reactions take place in: i AIGS | 362
(A) Struma (B) Thylakoid 0 e (=) s =)
(C) Cytosol (D) Mitochondria LEEIL o (2) Ur#l (©)
363 | The place where dark reactions are carried out is: 2/ =u.?2'_n5b)¢g'dx-ﬁﬁ‘ul;wf"~g 0 [ 363
(A) Thylakoid (B) Matrix TN (<) 21 5 ()
(C) Cristac (D) Struma [ N (+) 5/ (&)
364 | Compounds produced during light reactions are: - Ce b ks USRIy | 364
(A FADH (B) NADPH, ATP NADPH,ATP | (<) FADH ()
(C) Glucose (D) _‘S‘déér- S (2) HE (&)
365 [ The whole series of light reactionsj‘séﬁﬁed: 3‘:-311?( z,/:d;;J;ﬁglw.:g Ul 365
(A) S -Scheme (B) " Z-Scheme Z -Scheme (<) S -Scheme (=)
(C) | ~Scheme (D) None 78S (5) | —Scheme )
367 | Taking in of food is called: bl dsitd 7 | 367
(A) Absorption (B) Assimilation s (+) Sl (3)
(C) Ingestion (D) Digestion Ll (2) bt (&)
368 [ Light reactions take place in: WL Uiy | 368
(A) Struma (B) Thylakoid 0z («) bs ()
(C) Cytosom (D) Mitochondria writd (2) il (¢)
In which if the following steps of reparation CO2 is , ,
369 | produced? S ol ALTIBU MU b pe / 7 % | 369
(A) Glycolysis (B) Krebs cycle S (<) Ak (=)
(C) | Electron transport chain | (D) All of these SV () | HKeioH | (@)
370 | Oxygen takes part in aerobic respiration in: S (o U o p )] F TRt | 370
(A) Glycolysis (B) Krebs cycle FnS (<) A E (=)
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(C) Center of both A,B (D) | Electron transport chain E L o (2) o Qe 1569 (&)
372 | Which of these can enter into Krebs cycle? te Stk nSolevtu | 372
(A) Glucose (B) Pyruvic acid L Snal («) £ (=3)
(C) Citric acid (D) Acetyl Co-A Af17d S (2) baS (©)
How many molecules of CO2 are produced when Krebs .
373 | cycle operates once? L)L LN oK Kzl 2 p L | 373
(A) One (B) Two 7 () £ ()
(C) Three (D) Six g (2) B4 (¢)
374 | ......... is used in aerobic respiration: e b Stk | 374
(A) Oxygen (B) Carbon dioxide AT ek («) ST (=)
(C) Light (D) Nitrogen Uy (2) o (¢)
375 | The example of three carbon molecules is: =c‘=-dc'd/}':.:g Liek | 375
(A) Glucose (B) Pyruvic acid 17847 (+) o E (<)
(C) Starch (D) Ribose S (2) G- (&)
376 | Glycolysis takes place in: -1 19K | 376
(A) Nucleus (B) Cytoplasm | _\yi.(fﬂ;’m (<) Loty =)
(C) Mitochondria (D) Ribosomes ._ /\\i)uf/ff Y (2) vaviid (¢)
377 | Aerobic respiration occurs in: S g 3‘43%@?//»—@4 377
(A) Mitochondria (B) Plastids = | ikt () L ()
(C) Cytoplasm (D) Lysdsb'rﬁé\s\ Jipr (2) Sk (¢)
380 [ How many carbon atoms are presen-tiﬂﬁ‘"bylﬁ'LIViC acid? Sl AN S | 380
(A) Two B)| 57 Three o () » (=3)
(C) Four (D) Five &L (2) Je )
382 | One liter of ethanol weighs ......... grams i bl 6N | 382
(A) 700 (B) 980 980 () 700 (=)
(C) 1000 (D) 789 789 (2) 1000 (©)
The fuel mostly used to gain energy during cellular mdm‘éé‘;—/wbww}”‘C‘ﬁﬁﬂk}”kmdg”
383 | respiration is: | 383
(A) Starch (B) Glucose o E (<) Gt (—3)
(C) Pyruvic acid (D) Acetyl coenzyme A Afi1S S (+) e -J?./’.E, (&)
384 | Fermenting abilities of bacteria are used in making: e P YU Lo k....... febe§ T 3L 26 | 384
(A) Soya sauce (B) Bread b (<) Sdir ()
(C) Cheese (D) |  Cheese and yogurt Sl 5 (°) __~ (¢)
385 | Energy producing organelle is: und TLni Sigsa | 385
(A) Nucleus (B) Vacuole Jrks («) Vol (=3)
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(C) Ribosome (D) Mitochondria il (2) g2 (¢)
386 | The place for aerobic respiration in cell is: ww‘f’? L LTl Sk | 386
(A) Ribosome (B) Chloroplast 2ot («) (¥ L (=3)
(C) Golgi bodies (D) Mitochondria Wi (5 ZAG¥ ()
387 | The process of glycolysis is found in: el 3 P UFE | 387
(A) Vacuole (B) Ribosome V22 (<) ks ()
(C) Golgi complex (D) Cytoplasm vagltds (2) S d¢ (©)
388 | The basic sources of energy in animals are: BB LAk | 388
(A) Lipids (B) Proteins 74 (<) i (<)
(C) Carbohydrates (D) Nucleic acids SN Y (2) L ()
- :iﬂglgn;::b?::;%?e??lox'de molecules are made in a I BL AN K E 2SS 3 220
(A) One (B) Two ” (<) L (<)
(C) Three (D) Six f (2) B4 (©)
392 | Through which process organisms get energy? < (Ssuz SS e8P TR sES S| 392
(A) Respiration (B) Transpiration u?'f*::" 1/ (<) O =)
(C) Photosynthesis (D) Evaporation | /\i)u?we." (+) 3 (&)
394 | Which food group is our body’s best source of energy? So i AW L e dacs JUSKILZ | 304
(A) Meat group (B) | Fats, oil and swe“éts' A F e (<) YIS ()
(C) Breads and cereals | (D) Milk*\‘an‘(’iiéhlééjse o3 2333 (2) IRy (¢)
396 | Manganese involved in enzyme activity‘for; e 8 et K fne | 396
(A) Photosynthesis 8) | Respiration R (<) e (<)
(C) | Nitrogen metabolism | (D) Al v (2) e F (¢)
397 | Severe deficiency of water in plants is called as: QU &JLJ%J&&,J Uy | 397
(A) Dessication (B) Respiration e () Blts (<)
(C) Transpiration (D) Nutrition 04 (2) AN (&)
398 | Example of plant nutrients is: =‘¢Jl‘>‘d/ Lﬁ'/":.fiu»{.' 398
(A) Chorine (B) Iron Al (<) 5 (=)
(C) Nickel (D) Al g% (2) f ()
399 [ The yellow color of leaves is due to the deficiency of: ?e'-t’%é—e%;o{ S/ EiKuse | 399
(A) Cu (B) N I (<) Al ()
(C) Cl (D) Zn £ (2) oL ()
ion gl::tg;sftol'lret I;:;u;:;;{, ;utnent that provides quick useable LS GAIISE e A 2R rS Frief | 400
(A) Carbohydrates (B) Proteins s («) RN (=3)

Please visit for more data at: www.pakcity.org




9th Biology

WwWw.pakcity.org

(C) Lipids (D) Nucleic acid LK (2) Y ()
The disease of Kwashiorkor and marasmus may be due
401 | to: 28Ut e SEad | a0
(A) Mineral deficiency (B) | Over-intake of nutrients Bty () sy )
Protein energy , .
(C) malnutrition (D) Ulcer A () | o~/2Um G-k | ()
402 | One gram of carbohydrate contains ......... kilocalories: GnL A SN L] | 402
(A) Two (B) Four e («) 7 (=3)
(C) Six (D) Eight ST (2) z (@)
405 | In butter, percentage of saturated fatty acids is: e drr i Sia G Jo® | 405
(A) 0.7 (B) 0.3 0.3 () 0.7 )
(C) 0.78 (D) 0.8 0.8 (2) 0.78 (¢)
406 | Proteins are made from: w7, | 406
(A) Galactose (B) Glycerol U (+) .y (3)
(C) Fatty acids (D) Amino acids =ikFu o | () e IS )
Which disease is caused due to deficiency of vitamin L2/
411 | D? | _‘{-"'_.__,_"-'{-'dnc'_-wd/ SéD bk uiedty | 411
(A) Scurvy (B) Rickets & Vo («) $.F ()
(C) Osteomalacia (D) | Rickets and osteomalacial | DV et ot (2) Lo sl (%)
‘o \I:Iiltgr:izl:mdness s caused due to the deficiency of 7 .- e e S Aot | 212
(A) K Bl A A () K ()
(C) D (D) ) hc (+) D (&)
413 | The basic source of energy in animals are: A S0EGAR U | 413
(A) Lipids (B) Proteins s (<) % (=)
(C) Carbohydrates (D) Nucleic acid k) Ly (2) LK (&)
414 [ Rickets disease is caused by deficiency of vitamin: fedrne S sl | a4
(A) A (B) B B (<) A =)
(C) D (D) E E (2) D (¢)
415 | Deficiency of vitamin C causes disease: =+3ﬂdik‘:£f--:>sd/f JCu'ts | 415
(A) Scurvy (B) Anemia L) («) . =)
(C) Goiter (D) Blindness S (2) £ @)
Which is not a good source of vitamin C from the .
417 | following? S 2ACT U = idipise | 4T
(A) Citrus fruit (B) Vegetables b7 (<) LU ()
(C) Liver of cow (D) Meat 2o (2) g (¢)
418 | Deficiency of vitamin D in children causes: G2l UD Ut uE | 418
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(A) Osteomalacia (B) Night blindness I et (+) b (<)
(C) Scurvy (D) Rickets 5l (2) e (©)
419 | Which of the following vitamins work as coenzyme? 9.2 (Kb A i ptse e Sidioinr | 419
(A) Vitamin B (B) Vitamin D Dot () Bots )
(C) Vitamin C (D) Riboflavin o (2) Co't: (@)
421 | Deficiency of iron causes: =+3ﬂ:—e:<f L{ SusT | 421
(A) Goiter (B) Anemia o) (<) i ()
(C) Kwashiorkor (D) Obesity O] (2) Jead (@)
422 | Deficiency of iodine causes: e FSlee o8 ST | 420
(A) Goiter (B) Anemia Lo (<) £ ()
(C) Scurvy (D) Obesity 5l (2) $o.F (&)
423 | Itis essential for normal functioning of thyroid gland: e Unp LLIIREiEid6, | 423
(A) Copper (B) Zinc o (<) 48 (<)
(C) lodine (D) Sodium Br o | b) LT )
424 | An example of insoluble dietary fibres in human food is: ‘;“éfd"‘t{ﬁ' 65 Ba Ut s Suuir | 424
(A) Oats (B) Barley L) 7 (+) F ()
(C) Beans (D) Wheat bran (1 DY 54 e il (2) U4 (@)
425 | The function of lipids is: P> 20y | 425
Make sheath around y
(A) Creates membrane | (B) _neuron b3S L s (<) bbeef A ()
(C) Hormone’s (D) Al v (2) 2 A (¢)
427 | The deficiency of iodine causes: N e F Slee o8 SeptsT | a2
(A) Rickets (B) Goiter A () Yl (3h)
(C) Malaria (D) Scurvy $o (2) Lz (¢)
428 | ........ is a water soluble vitamin: [ e e bty 2l | 428
435 | The cause of kwashiorkor disease is deficiency of: ‘-'e'-am'—a?sd/d/ SU GBS | 435
(A) Carbohydrates (B) Proteins 754 () S\ (=)
(C) Lipids (D) Vitamins s (2) % (@)
136 | through the igestive system i caled: . O FErp 38 327 6F | a3
(A) Churning (B) Emulsification 5 (<) £z (=)
(C) Absorption (D) Peristalsis U (2) T (©)
437 | Villi are located in: furZ ez U0 | 437
(A) Esophagus (B) Stomach 0437 () o (=3)
(C) Small intestine (D) Large intestine T (2) JeIJe (&)
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Which group of enzymes breaks up starch and other

438 | carbohydrates? ?q_b‘?/ u%,qfu;l{; /))J)l@.ltﬂgdj Ud6A 2 | 438
(A) Proteases (B) Lipases byl («) . (=)
(C) Amylases (D) None of these JF St (2) 520k (¢)
The pancreas produces digestive enzymes and releases )
439 | them into the: e b STk sl e A1 el 322 Ak | 439
(A) Colon (B) Gallbladder JE («) Sz (<)
(C) Liver (D) Duodenum Fisgs (5) f ()
440 | In the stomach, pepsinogen is converted into: Setbls S AU S P | 440
(A) Pepsin (B) Bicarbonate Y (<) T (=3)
(C) HCl (D) Gastrin Sl 0 | i | ()
The process of breaking down large droplets of fat into
441 | small droplets of fat for lipids is called: WS L BRBSL AT Pl |
(A) Emulsification (B) Absorption ety (=) L (=3)
(C) Peristalsis (D) Churning £z (5) s )
442 | Protein is digested by: U CARY.
(A) Lipase (B) Amylase / ‘5“ - («) el (3)
(C) Protease (D) Nuclease /\,) e (2) 74 (¢)
443 | Biuret test is used for the identification of: ( ” e el Lassf..... et e s00 | 443
(A) Proteins (B) Lipids 0> oy () s ()
(C) Glucose (D) Statero\S Bt (5 E @)

Water makes the composition of protoplasm of all living

444 th]ngs: LI :‘ért'tr.gr)l&;}/*éuylﬁlgaﬁjra(}g 444

(A) 60 to 95% (B) | 60t080% 60 to 80% ()|  60to95% | ()
(C) 60 to 90% (D) 60 to 70% 60 to 70% (+) 60 to 90% (¢)
445 | Which of the following is not a function of saliva? s o Peiu U SLizisr | 445
(A) Digestion (B) Absorption el (+) Sl (=3)
(C) Lubrication (D) |  Stabilization of pH pH &1,/ 4 () B (@)
448 [ Enzyme present in saliva is: e AL LW AIZL | 448
(A) Lipase (B) Amylase Adu (+) b (=3)
(C) Protease (D) Tripsen O (2) 2, (¢)
449 | In adult human, the Esophagus is about ......... long: Qe Pttt | aa9
(A) 15 cm (B) 25 cm 25 cm («) 15 cm (3)
(C) 8 cm (D) 5 cm 5 cm (2) 8 cm (©)
450 [ In stomach, pepsinogen is converted into: e Lo U a7 oo | 450
(A) Pepsin (B) Bicarbonate Al (=) = ()
(C) HCI (D) Gastrin Sl (+) L SoHa (&)
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453 | The name of compound that converts inactive enzyme: :4‘-_!:'/ Ju s f’ lﬁligu,l:?fvigful 453
(A) Pepsinogen (B) Intopepsin JFY (<) 3 ()
(C) HCl (D) Light water g (4) HCl @)
454 | Urea is formed in: <y | 454
(A) Stomach (B) Liver S () o ()
(C) Gall bladder (D) Pancreas S (2) ok JE (&)
In......... of the alimentary canal, the maximum .
455 | absorption of nutrition occurs: e QSNBSS IS L. LIS | 455
(A) Small intestine (B) Large intestine DOLIE: («) N (=3)
(C) Pharynx (D) Stomach 042 (») LU 2 (&)
458 | Elimination of undigested food from the body is called: e b TE P2 4| 458
(A) Ingestion (B) Digestion =L (+) J”/ ' =)
(C) Defecation (D) Assimilation = (2) S (¢)
459 | The average weight of a liver is: bbbk | 459
(A 1.2 kg (B) 1.5 kg 1.5kg? (+) 1.2 kg (<)
(C) 3 kg (D) 2 kg __02kg C) 3 kg (©)
462 | Ulcers occur in the: . /\\i Sl s~ | 462
(A) Stomach (B) Duodenum _ <} 343 (<) 4 (<)
(C) Esophagus (D) All of these, | e, (5 > ©)
463 | In most plants the food is transported in\‘t\h.ig“‘fb?r'r\i‘\of: S tibl, L PP SuAdtuniinli | 463
(A) Glucose B)| ¢ N\ fgf;féu;:rose nF (+) ok (=)
(C) Starch D) | ™" Proteins B4 (2) Gt (©)
467 | Transpiration take place through: =~1".JJ:¢‘-MJf Kw”"-/’y'/" 467
(A) Stomata (B) Cuticle o (<) s ()
(C) Lenticels (D) Al % (2) batad ()
.8 w:tf:‘l? part of plants is responsible for transporting b3 LS ;,Q}&ﬁ:_u/ Loy | 468
(A) Xylem (B) Phloem Fob (+) &0 (<)
(C) Root (D) Leaf & (2) Z (¢)
469 | Evaporation of water from the surface of plant is called: P UJ‘E’J{"'{'JG.&L@/JG’{ 469
(A) Guttation (B) Translocation S (<) s =)
(C) Transpiration (D) Transportation S (2) AN (©)
470 | Water enters into root hairs by means of: gt Eipiend 5L ... 84 | 470
(A) Diffusion (B) Osmosis J7 (<) i 5 (<)
(C) Active transport (D) Passive transport = (2) ] (&)
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471 | In phloem, movement of food is ......... way: te e 3 pU Lmr S SPREE | 414
(A) One way (B) Two way Ry (<) Sk (<)
(C) Three way (D) Four way Ry (2) S A (¢)
472 | Food is transported through: ket e 12/ Su3 | 472
(A) Xylem (B) Cortex K (<) i )
(C) Phloem (D) Mesophyll Poe (:) fob @)
473 | Food is formed in the form of: =‘4C§*uff’ S Ju? | 413
(A) Glucose (B) Sucrose nF (+) ¥ (3)
(C) Starch (D) Maltose I (2) Gk (¢)
474 | Acute deficiency of water in plants is called: S ae8dtony | 474
(A) Dessication (B) Respiration 5 (<) Clie (3h)
(C) Transpiration (D) Nutrition 74 (2) AN (&)
A tissue that transports water and dissolved salts from il »Lg;:'a;u;;f..,bﬁ’wd’mdtiﬂ._ﬁ
475 | roots to upper parts of plants: e b/ 2 | 475
(A) Phloem (B) Xylem H’ W) (<) b =)
(C) Cambium (D) Ground tissue /\, < “’ T3 S (2) KJF (&)
476 | Guard cells belong to: > ’{-be"’.’. €436 | 476
(A) Pericycle (B) Stomata G (<) Flisn ()
(C) Cortex (D) Endodermls U sk (2) S (&)
When fibrinogen makes blood clot |t sepérates from 'ﬁmdwédwj':'uf’ bl LAt
477 | blood and the remainder is called:: <t | 477
(A) Plasma (B) Lymph s (<) Ll (<)
(C) Serum (D) Puss = (2) e (¢)
Which of the following contains deoxygenated blood in .
481 | an adult human? e bny s STH LIS, | 481
(A) Left atrium (B) Pulmonary artery S2T 7k (<) A UL ()
(C) Pulmonary vein (D) All of the above e (2) B (¢)
Which if the following chambers has the thickest walls I
482 | in human heart? S tdndr e e Aod b ZUs | 482
(A) Right atrium (B) Left atrium (= AL (<) UL (<)
(C) Right ventricle (D) Left ventricle B sl (2) K Fesuls (&)
To exchange of materials between the blood and the
483 [ surrounding tissues occurs in: ‘-'—f-t‘ﬂ-r.’»'ﬁﬁgﬁ?‘b/u”l-wf"ﬁiﬁ 27 | 483
(A) Arteries (B) \Veins s (+) 220 =)
(C) Capillaries (D) All of above 2Ll (2) ok (&)
484 | Which of the following is a type of leukocyte? te LIS e Ut | 484
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(A) Lymphocyte (B) Eosinophil P (<) cAH ()
(C) Monocyte (D) All of above V- (2) Aoy (&)
A patient with blood group A can be given the blood of . .
488 | donor who has: ?‘LC‘:‘?&M? K.,,f oY, tf; LA";:”; 4| 488
(A) | Blood groupAorAB | (B) | Blood group Aor O ALO¥ (<) ALAB¥ =)
(C) | BloodgroupAonly | (D)]| Blood group O only 602/ (*) bAS ()
489 | Which cells of blood are responsible for clotting? St Ll K = Cud | 489
(A) Platelets (B) Erythrocytes s (<) o ()
(C) Neutrophils (D) Basophils Ayt (2) Psts (&)
490 | ......... are the most numerous in healthy human blood: e Qotolie ... S L | 490
(A) R.B.Cs (B) W.B.Cs W.B.Cs (+) R.B.Cs (=)
(C) Platelets (D) Monocytes DB (2) e (¢)
Which of the following blood group is called the . -
491 | universal recipient? ‘-’é—b’lk"/ L) u.:zg-af oS Uithsziir | 491
(A) A (B) B B («) A (3)
(C) AB (D) 0 (») AB (@)
495 | Normal pH of blood is: A\ O - bnpHUedu? | 495
(A) 7. (B) 74 N7 74 (+) 7. (<)
(C) 7.1 (D) 7.9 N\ 7.9 () 7.7 (¢)
Plasma proteins which maintain the balance of water in P _ o,
497 | blood is: A\ OV e &2t acdagite | 497
(A) Albumin (B) | . (Fibrinogen P A6 (=) B ()
(C) Fibrin (D) [\ Hemoglobin B2 (5) Bt @)
498 | In adult human red blood cells are produced in: K st Eg | 498
(A) Ribs (B) Spleen A (+) sk (<)
(C) Liver (D) Lungs s % (2) Sk (&)
Exchange of materials only takes place between blood .
499 [ and surrounding tissues through: i OGS DU LGP 7 | 499
(A) Arteries (B) VVeins Vs (+) 227 (=3)
(C) Capillaries (D) Al 8% (2) Ak ()
503 [ The largest and strongest chamber in heart is: gl b e by | 503
(A) Left atrium (B) Right atrium UL ) A AU ()
(C) Right ventricle (D) Left ventricle L Faal (2) K Fesuls (&)
Blood group B consists of antigen ......... and ) . - .
507 | antibodies .......... i BAGHScrroae APFe SI S EB s SH | 507
Antigen A and Antibodies Antigen AB and L ; p I
(A) B (B) Antibodies None S GISBABR S | (<) | BSGIAZ S | ()
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Antigen None and Antigen B and Antibodies ; . S 3 P G

(C) Antibodies AB (D) A ALSHnB s (+) AB (¢)

Human heart is enclosed in a double membranous sac .
908 | called: ‘U.?%f&?““"u:y Jisef A F5LIs6uL | 508
(A) Pleura (B) Pericardium SAYc () sk (=3)
(C) Peritoneum (D) Pericarp 0z (2) I8 (©)
509 Z‘LTﬁQg‘fnt:éSi'u?ﬁé"?g n—— Ce btk E TGPl L | 500
(A) Aorta (B) Renal artery G2 (<) sl (<)
(C) Pulmonary vein (D) Pulmonary artery DA (2) L3S (©)

Hepatic portal vein carries blood from small intestine . ,
511 | to: :‘LdlgLu_;)dl/. ........ T e M S 1L | 511
(A) Liver (B) Heart Js () f ()
(C) Kidney (D) Colon Sz (2) Sy (&)
512 | Which of the following blood group have antigen A? te-QedlAR Gt U | 512
(A) AB (B) A Ao (+) AB ()
(C) B (D) 0 N2 |6 B ()

When fibrinogen makes blood clot, it separated from R AT .
513 | blood and rest is called: s bl 2 Oaie Qe nlic thog St Wl % Abcz | 513
(A) Puss (B) Serum 1|’ Y e (+) o ()
(C) Plasma (D) Lymph = () Lt ()
514 | This blood group is called universal donor: {\ S bl I 1t TS | 514
A) A B . B AB (=) A (<
(C) Aand B o) <V T 0 0 (2 A B @)
515 | The volume of blood in adult human is: e bk toibtl | 515
(A) 6 litre (B) 5 litre #5 (<) 6 (<)
(C) 4 litre (D) 3 litre 73 (2) A4 (¢)
516 | The accidental death of cell is called: e Qb erdebdt | 516
(A) Necrosis (B) Apoptosis U7 Sl (+) S (<)
(C) Metastasis (D) Blebs % (5 el (@)
17 \(I:\:Illeelgl :blood cells are separated from blood, the rest is ot M:LJL?q_Hg,L,:/ 7 }‘«’féa_uﬁ.,o. 17
(A) Plasma (B) Serum o («) Ll ()
(C) Protein (D) Water d (2) Fay (&)
519 | In a tissue, capillaries join to form small veins: Wdzd Litd gt AT A P | 519
(A) Lumen (B) Venules s (<) J % (<)
(C) Capillaries (D) Arterioles J447 (2) Ak (¢)
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A person having none of the antigen A and B has blood

- bnr S e uinBaAZ it A | 520

920 | group:

(A) B (B) AB AB («) B )
(C) 0 (D) A A (2) 0 (¢)
521 | ABO blood groups system was introduced by: ABO s/ d s/l | 51
(A) Robert Koch (B) Karl Landsteiner FlidJk () () (3)
(C) Robert Brown (D) Schwann ¥ (2) il sls (&)
523 | Which cells play role in body defense? S g atf” Keul| 523
(A) Erythrocytes (B) Thrombocytes st B (<) S )
(C) Basophils (D) Leukocytes V2L (2) Pt (&)
926 | The protein which helps in blood clotting is: e 8 atllay? 2k | 526
(A) Albumin (B) Antigen G (+) o =)
(C) Fibrinogen (D) Hemoglobin et (2) UYL (¢)
529 | The average adult body has about volume of blood: b kPl UL | 529
(A) 5 litre (B) 6 litre £8% (<) /5 (=3h)
(C) 7 ltre (D) 8 litre A8 (2 AT ©)
532 | Mosquito that transmits dengue fever: | /\\i) e blkg A=32 4 | 532
(A) |  Anopheles mosquito | (B) Aedes mosquito S {37 (<) A (<)
() | Female culex mosquito | (D) | Male culex mosgits AL () ATl @)
533 | The heartbeat of healthy woman per minqtéfié:yi' cldnesg........ IS bieira” L | 533
(A) 90 B U 9 02 (<) 90 ()
(C) 75 o[ 79 79 () 75 @)
934 | Anemia is caused due to the deficiency of: ‘4‘-3”&'-?’0/0( --------- LY | 534
(A) Iron (B) Magnesium 7 (<) oA ()
(C) Calcium (D) Phosphorous 96 (2) el (&)
933 | The death of heart tissue is called: ?4—31&’/.%@%0/)?} LJs| 535
(A) Atherosclerosis (B) Arteriosclerosis SR (+) U3 A ()
(C) | Myocardial infarction | (D) Thalassemia Led? (+) IS (&)
536 | Myocardium means: et K5 | 536
(A) Death of tissue (B) Muscles of heart FLJ; (+) =i (=3)
(C) Ambulus (D) Chime 41 (») Ul (@)
538 | Myocardial infraction means: i SbP 3 | 538
(A) Thrombus (B) Embolus Ul (+) 5y (<)
(C) Heart muscle (D) Tissue death = (2) # LUs (&)
542 | To what category of molecules do enzymes belong? ?4‘-4'—(3 SELL A | 549
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Write short answers of the following
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1.Define biotechnology.

2.What is meant by horticulture and also define its relation with

agriculture?

3.Define microbiology.

4 Define biochemistry and morphology.

5.Differentiate between morphology and physiology.
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